07800_A #T53K , DIN 705 , &Nl A B, —F+8

7= miiEA

ME
Mo

I
S EMFEIETIR,
Bkt | NE  BESR 15H, =,

BT
1) D1 =275, BEFARMNRLHE.

@ _ D3 _

0 ST ¥4
&9 |
NG . .
AR T
. )
||
/
D245 Bis14
1
07800-100301 EE E ) A 3 5 7 M2x3
07800-100401 N ) A 4 5 8 M2,5x3
07800-100501 %l 3 A 5 6 10 M3x4
07800-100601 EE x A 6 8 12 M4x5
07800-100701 E % A 7 8 12 M4x5
07800-100801 R EXE) A 8 8 16 M4x6
07800-100901 W EE A 9 10 18 M5x8
07800-101001 %] EE) A 10 10 20 M5x8
07800-101101 EE EE A 11 10 20 M5x8
07800-101201 E 3 A 12 12 22 M6x8
07800-101401 R EXE) A 14 12 25 M6x8
07800-101501 EE x A 15 12 25 M6x8
07800-101601 B % A 16 12 28 M6x8
07800-101801 B x A 18 14 32 M6x8
07800-102001 N EE A 20 14 32 M6x8
07800-102401 %l S A 24 16 40 M8x12
07800-102501 EE 3 A 25 16 40 M8x10
07800-102601 EE EE) A 26 16 40 M8x10
07800-102801 R EE A 28 16 45 M8x12
07800-103001 N e A 30 16 45 M8x10
07800-103201 %l 3 A 32 16 50 M8x12
07800-103501 EE 4 A 35 16 56 M8x12
07800-103601 R EE) A 36 16 56 M8x12
07800-103801 R EXE) A 38 16 56 M8x12
07800-104001 E EE A 40 18 63 M10x16

© norelem www.norelem.com



07800_A #T53K , DIN 705 , &Nl A B, —F+8

07800-104201 LI b= A 42 18 63 M10x16
07800-104501 G =t A 45 18 70 M10x16
07800-104801 W 5 A 48 18 70 M10x16
07800-105001 G Tt A 50 18 80 M10x16
07800-105201 Ml Eg=) A 52 18 80 M10x16
07800-105501 M 5 A 55 18 80 M10x16
07800-105601 G 5 A 56 18 80 M10x16
07800-105801 M 5 A 58 20 90 M10x16
07800-106001 W Tt A 60 20 90 M10x16
07800-106301 Ml 5 A 63 20 90 M10x16
07800-106501 M 5 A 65 20 100 M10x20
07800-106801 G 5T A 68 20 100 M10x20
07800-107001 ME 5 A 70 20 100 M10x20
07800-107201 W 5t A 72 20 100 M10x20
07800-107501 Ml 5t A 75 22 110 M12x20
07800-108001 M b A 80 22 110 M12x20
07800-108501 G Tt A 85 22 125 M12x25
07800-109001 Ml E=) A 90 22 125 M12x20
07800-110001 W b= A 100 25 140 M12x25

© norelem www.norelem.com



